Heredity Cloze
Fill in the blanks with words from the box.
	behavior
	carriers
	dominant
	genes

	heredity
	Mendel
	offspring
	pea

	purple
	recessive
	traits
	white

	An animal’s looks and _________________ are often similar to that animal’s parents. This is because parents pass down _________________ to their children. This passing down of traits from parents to _________________ is called _________________. 
The basic principles of heredity were first discovered by an Austrian monk named _________________. He conducted experiments using _________________ plants. Mendel concluded that each inherited trait is controlled by two factors which we now call _________________. One gene is passed from the mother and one gene is passed from the father. However, the resulting trait is not a blend of the two parent traits. Instead, one trait may dominate the other. In pea plants for example, having purple flowers is a _________________ trait so if a plant receives a purple gene from one parent and a white gene from the other parent, it will only have _________________ flowers. Mendel made another interesting observation: two purple flowers sometimes produced offspring with _________________ flowers.

	This is because although they have purple flowers themselves, they both were _________________ of the white flower gene, which is what they passed on. The white flower trait is called a _________________ trait and only shows up when both parents pass that trait to their offspring.
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	The shape of your earlobe is an example of an inherited trait that can be dominant or recessive. An unattached earlobe (right) is a dominant trait.
From Mr Clarks note in his Animal Management Practices notebook…”genetics and reproduction”.
Put these words in the correct gaps…
Traits, commercial, fertile, punnet squares, heritability, progeny, teaser, recessive, replacements, Perendale, on-heat, heterozygous, terminal sire, productive, measured, characteristics,  recessive, libido, breeds, phenotype, stud, testes, dam, dominant, heritage, recorded, select, improve, hybrid vigor, tupping, hardiness, cryptorchid.
· Genetics are one of the most important parts of farming, as the ____________and__________________ of the animals or plants the farmer is growing may determine how well suited they are to what he wants to produce….or wether they will produce them at all! An example of this is if a farmer wants to produce fine wool, then he will _____________the breeds that carry fine wool genetics. If he wants to ____________the fineness of his breeds wool then he will select the animals that show those traits and continue to breed only with those. This way he will continue be more and more _________________over time. 

· Perhaps he prefers faster growing, heavier animals for his _________________farm, he will then only breed with the largest fastest growing animals he has or can buy. He will keep his fastest growing, largest offspring for ______________(to replace culled/dead animals) or go to a _________breeder and choose their stock. To know which ones have the desired traits the animals must be ___________and _______________. 

· Ie. to measure fast and overall growth the animals will be weighed. 
· To measure muscle mass or depth they may be ultrasound scanned (eye muscle).
· A commercial meat farmer might choose a sire of a different breed to the_______, this will mean the first offspring of these will out perform its parents. This is a called ____________________. A sire whose ___________ is not kept for future breeding and is culled is called a ______________ _________.
· All of the measured info will be recorded (ie written down) so they can be compared to other animals. The traits being recorded are the animals _______________. They will also carry traits that cannot be seen, perhaps they are ______________and might only be passed on to offspring over time, so records are kept for many generations (parents, grandparents, progeny) this is called its ____________. Some traits are passed on more easily than others, this is called _________________. 
· Before ___________ and putting out his sires a farmer might put a _____________ out with his dams to stimulate their reproductive cycles and get them receptive to the ram and ________________. A teaser is usually a ________________ ram that has had its scrotum removed and____________pushed inside its body cavity so it still has its ____________ but cannot produce fertile sperm and pass on its genetics. 
· The farmer usually runs far fewer sires than dams on their farm, which means the males contribute a huge proportion of the genetics ie one ___________ram may mate with 50-100 ewes a season which means he fathers over 100 lambs a year.
· Many different  ____________  of animal have been developed by crossing other breeds to develop a breed with the combined desired traits of its ancestors. An example of this is the ______________ which is the product of crossing the Romney breed and the Cheviot to produce a breed that has the good wool, and ____________ of the Cheviot and larger size and reliability of the Romney to suit high and hill country farms. 
· Selecting traits for breeding and identifying the ratios of offspring that will carry the combination of desired traits can be done by using ________ ____________. When two traits ie wool colour are combined and are different they are called ______________. One will masked by the dominant trait and not visible and it is the _____________. 
If the trait for worm resistance is R. and animals that are not resistant are r. and a ram that is Heterozygous dominant (resistant) mates with a ewe that is not resistant to worms how many of their offspring will not get worms? (work this out using a punnet square).

Ratio or % of resistant offspring =______/_____ OR ______%.
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